&

&
1z

WO NDO AWM =

—y
o

R &

OCOONOOIAWN =

IMRCAMS AN —F Sa=Fl)—X BRIEE

SR—1

mRY57 2/25
B-K sz CRMC-
3ELLE 3WLIE FMSC
(HEEH) =3

FS

B

i

SR—2
317

GRAVEL

L8
=

kHE A

IMRCAMS AL —F Sa=FSY—X HiEE

SR—1

wEyST | 225
B-FF 552 CRMC-
3BLLE UL FMSC

(HEEH) 5%

it EE QUCC 15
Ik A QUCC 20
FHE BE—EF | RASCAL -
BK FE C&C 12
aH KK RCHER 10

Hep {5 Qucc -
HE HE Qucc -

z =5 QUCC 8
EE BMA Keishikai -
= me AMS = i -

SR—2
317

GRAVEL

65
12
20
8
10
R
15

SR—3
47

RASCAL -

FMSC

2
=

kA

SR—3
47

RASCAL-

FMSC
64
15
20
10
6
12
8

IMRCAMS AN —F Sa=Fl)—X B#EE

SR—1

mRy37 2/25

B-FR 55z CRMC~
3EULE 3L FMSC

(HEE¥) 1146

B B/ RC-X % 20
iE 2ah RC-K% 10
g JX RC-K% 15

ARE E# TCF -

Al KE RTCR R
31Ty C&C 6
IR EE C&C 4
IO EA TCF 8
B #MEF C&C 2
EE BE Qucc 3
Sl #E TOBIUME -
ML TCF -
Tk & Qucc -
BS Bt Qucc 12
BH EXE Desire -
X —X C&C 1
HE 2 RC-K% -
THE FT  cac -

FE K2 RASCAL -
F8 BEA R-10-N -
BS KBt Qucc -

SR—2

GRAVEL

128
8
12
20
15
R

N Ao

—_
o

1o

SR—-3
47
RASCAL -
FMSC

95

IMRCAMSAS—F Sa=F =X BEE

SR—1
mBy57 2/25

_ } CRMC-
B~4WD 752 ;4 smur  Fusc

(LEEH) 0%

S

SR—2
317

GRAVEL

=4

S

SR—3

47
RASCAL-

FMSC
=3

S

SR—4

428
T=XT

P2
=

KHS A

SR—4

4/28
T-XT
78
20
4
8
12
6
15
10

SR—4

4/28
T-XT

124
20

SR—4

4/28
T=XT

=3

kb A

SR—5

5/19
RCHEZ

=

SR

SR—5
5/19
RCEEX
78
20
12
15

SR—5

5/19
RCFEX

95

SR—-5
5/19

RCREZ

=3

kb A

SR—6

HBAR <

SR—6

6/9
4
4%
20
12
15
10

SR—6

6/9
v

1346
15
10
8
12
20
2

IS 1ol 1l o=1 100w

SR—6

6/9
v

=3

kb A

SR—7
6/30
RC-X%-
FMSC

2

SR—7
6/30
RC-A%-
FMSC

65

SR—7
6/30
RC-X%'-
FMSC
75
20
12
15
8

a1 o

SR—7
6/30

RC-X%-

FMSC

P2y
=

kb A

SR—8

7721
oM

2 B

SR—8

7721
-OM
104
20

12
15

SR—8

7721
-0oM

P2y
=

kb A

SR—9

9/8
RTCR

75

SR—9

9/8
RTCR

P2y
=

kb A

SR—10

10/6
TOBIUME

L
=

S

TOBIUME

64

SR—10

10/6
TOBIUME

78

SR—10
10/6

TOBIUME

(=3

kb A

T 30 W

S 34

REE | gy

Y A _-—-
onarro3REERRRSES2S S D BNy 23282338923 By

Rtz iy



